° a a a A 2 a ?
msmu'mmuﬂuﬂmmzuumnmunanmmm6’ :"‘,,

L S P P P

ad o a
';ﬁmimmmnuﬂuwa

A A 9 o a A ¥ 1A o A A
Ruifuwa = (NuiTeuRUENI x 83 1RUTTURA) + (NUTRURUABIABY X B3 1RUTTUNA X 1ABY / 12)

faeda  wie n. HidueaanuiEeuiu onu19nil 2564 $149U 100,000.00 11N
aaeall 2565 W1 n. AuIUATUABUAL 1,000.00 LN

v

AdszyalvainalinetuiunaludnsSesas 2.50

a ]

)

A
U

NuiseuRY szezm .
" ) LAY
(GRIEGIN) (1)

31 5U1AN 2564 BOAUNNT 100,000.00 11N 100,000.00 x 2.50/ 100

9l 2565

unIny

1,000.00 1,000.00x2.50/100x 11 /12

o 2
AUNNUD

1,000.00 1,000.00x2.50/100x 10/ 12

a
yuny

1,000.00 1,000.00x 2.50/100x 9/ 12

HOU

1,000.00 1,000.00x 2.50/100x 8 /12

NHHNIAY

1,000.00 1,000.00x 2.50/100x 7/ 12

TR

1,000.00 1,000.00x 2.50/100x 6 /12

NINGYInY

1,000.00 1,000.00x 2.50/100x 5/ 12

RUAGEY

1,000.00 1,000.00x 2.50/100x 4 /12

AuegU

1,000.00 1,000.00x2.50/100x 3 /12

Aa1AN

1,000.00 1,000.00x 2.50/100x2 /12

GELRE]

1,000.00 1,000.00x2.50/100x 1 /12

FUNAY

1,000.00 1,000.00x2.50/100x 0/ 12

12,000.00 137.50

Quiluma 1l 2565 2,500.00 + 137.50 = 2,637.50

ad o a a A 4" 4
ATMINUIVNURASAHADDLUVELIUT)

a

a A A dy a g = = [ a A A :’1‘ a
NURAIAUADNIVINUT = ponleRuNazdunaall x sasINumasAUADNILHNUD)

v

A 9 4

Sy .

o

y ya ¢ o A A v =
I8N U N. E]Nuﬁﬂﬂim Lﬁﬂﬂ'ﬂﬂluﬂl\iuq @]a@ﬂﬂ 2565 = 1,000.00 LN

v

MlszpilngiinAneifundenuaendetug 15%

a

' Y
Rumasiuaenibotug = 1,000.00x 0.15 = 150.00 DM




